
 Absorber

           ANTENNA SHIELDED

0.5" Absorber

0.5"/2.0" Full-absorber (59,59W,64 Only)
0.5"/1.0" Full-absorber (71WA Only)

1" OR 2"

plain segments

antenna shield
Half-absorber

arrangement

Stainless 4.5        7.7       18.7      39.2      65.1      161

Absorber

1

steel (3.3)      (5.7)    (13.8)    (28.9)     (48)    (118.7)

* Includes spares

segments. Assembly and mounting hardware is included.
segments and other antennas require absorber on all four
segments. Some antennas require absorber on only two shield
mance.Signal absorber is fastened to the inside of the shield
on the reflector of a ValuLine antenna to achieve high perfor-
This four-segment shield with radome is designed to be mounted

Description 

Fastener Torque value in N·m (lb·ft ) for each fastener
size

improper or unsafe installation practices.

Table 1. Shield-Radome Parts List

Item Description Part no. Qty*

Andrew disclaims any liability or responsibility for the results of

equipment.
to verify proper installation, maintenance, and condition of
systems should be inspected once a year by qualified personnel
instructions have been written for such personnel. Antenna
requires qualified, experienced personnel. Andrew installation
The installation, maintenance, or removal of antenna systems

Notice 

10      Angle adaptor bolt 9953-23 1
9        Angle adaptor 45840-1 1
8        Absorber washer 9862-10 4

ss stainless steel

Table 2. Fastener Torque Specifications

**Quality increases by 6 for 64 series only.

1        M6 x 1-6g x 12 mm hex bolt, ss        100532-7 38**
2        M6 lock washer 100522-25 56**
3        M6 x 1-6H hex nut 100526-25 38**
4        M6 flat washer 100525-17 18**
5        M6 x 1-6g x 20 mm hex bolt, ss        100534-214 18**
6        Hole plug 48504 8
7        Absorber clip 224303-3 4

Size M5        M6        M8       M10      M12     M16   

Typical overlap

 Antenna
237288

ARE00

Bulletin

RevStatusModel Version

Version RevStatus

1 of 3page

Installation Instructions
JRE00

Andrew Solutions

Hinweis: Andrew lehnt jede Haftung Oder Verantwortung fur Schaden ab, die aufgrund unsachgemaBer Installation, Uberprufung, Wartung Oder Demontage auftreten.
Atencao: A Andrew abdica do direito de toda responsabilidade pelos resultados de praticas inadequadas e sem seguranca de instalacao, inspecao, manutengao ou remocao.

VHP4

Awertenza: Andrew declina eventual! responsabilita denvanti dell'esecuzione di procedure di installazione, ispezione, manutenzione e smontaggio improprie o poco sicure.

Other Europe: +44 592 782 612
 U.K.: 0800 250055
 or 1-888-235-5732
U.S.A., Canada, Mexico: 1-800-255-1479
Customer Service 24 hours

www.commscope.com\andrew

any specifications or warranties relating to Andrew Solutions products or services.
marks, respectively, of CommScope. This document is for planning purposes only and is not intended to modify or supplement 
Andrew Solutions is a trademark of CommScope. All trademarks identified by ® or ™ are registered trademarks or trade-
© 2008 CommScope, Inc. All rights reserved.
Visit our Web site at www.commscope.com\andrew or contact your local Andrew Solutions representative for more information.

Notice: Andrew disclaims any liability or responsibility for the results of improper or unsafe installation, inspection, maintenance, or removal practices.
Aviso: Andrews no acepta ninguna obligacion ni responsabilidad como resultado de practicas incorrectas o peligrosas de instalacion, inspecci6n, mantenimiento o retire.
Avis : Andrew decline toute responsabilite pour les consequences de procedures d'installation, d'inspection, d'entretien ou de retrait incorrectes ou dangereuses.

ValuLine
TM

Shield-Radome

3

five bolts, lock

Radome

washers, and nuts

Reflector
mounting

holes

1

2

nut
mounting

shield segments with
Loosely join ends of

Radome
mounting

nut

 62.3 mm 

 14 mm 

Full-absorber
antenna shield



Drain hole plug

Absorber clip (typ.)

Reflector mounting 
hole

Threaded insert for
radome attachment

Assembled shield 
arrangement

at sides of half-absorber antennas.
Position absorber segments

Half Absorber 0.5"/1.0" Absorber

4

0.5"/2.0" Absorber

3

0.5" 
Absorber

rim holes in reflector.

top of antenna.

ReflectorBottom drain holes
must remain open.

top and side drain holes. Drain holes:align
with antenna top.

Insert hole plugs (6) in

Red tape: indicates

Insert shield into reflector so 
that mounting holes align with

 Pry the shield slightly to align shield and 

Repeat at 3 opposite positions 
reflector holes to receive a bolt. 

Shield
assembly

3

tighten. 

Reflector
 1
Fit loosely with
lockwasher(2) 
and nut(3) in 4 
opposite places 
as shown then 

2

3

Full-absorber antenna
shield version shown

2

Antenna shield 
arrangement

1

 Antenna
237288

ARE00

Bulletin

RevStatusModel Version

Version RevStatus

2 of 3page

Installation Instructions
JRE00

Andrew Solutions

Hinweis: Andrew lehnt jede Haftung Oder Verantwortung fur Schaden ab, die aufgrund unsachgemaBer Installation, Uberprufung, Wartung Oder Demontage auftreten.
Atencao: A Andrew abdica do direito de toda responsabilidade pelos resultados de praticas inadequadas e sem seguranca de instalacao, inspecao, manutengao ou remocao.

VHP4

Awertenza: Andrew declina eventual! responsabilita denvanti dell'esecuzione di procedure di installazione, ispezione, manutenzione e smontaggio improprie o poco sicure.

Other Europe: +44 592 782 612
 U.K.: 0800 250055
 or 1-888-235-5732
U.S.A., Canada, Mexico: 1-800-255-1479
Customer Service 24 hours

www.commscope.com\andrew

any specifications or warranties relating to Andrew Solutions products or services.
marks, respectively, of CommScope. This document is for planning purposes only and is not intended to modify or supplement 
Andrew Solutions is a trademark of CommScope. All trademarks identified by ® or ™ are registered trademarks or trade-
© 2008 CommScope, Inc. All rights reserved.
Visit our Web site at www.commscope.com\andrew or contact your local Andrew Solutions representative for more information.

Notice: Andrew disclaims any liability or responsibility for the results of improper or unsafe installation, inspection, maintenance, or removal practices.
Aviso: Andrews no acepta ninguna obligacion ni responsabilidad como resultado de practicas incorrectas o peligrosas de instalacion, inspecci6n, mantenimiento o retire.
Avis : Andrew decline toute responsabilite pour les consequences de procedures d'installation, d'inspection, d'entretien ou de retrait incorrectes ou dangereuses.

ValuLine
TM

Shield-Radome

2

Antenna top

tape

1.0" or 2.0" Absorber

Position of red



5

6

 Antenna
237288

ARE00

Bulletin

RevStatusModel Version

Version RevStatus

3 of 3page

Installation Instructions
JRE00

Andrew Solutions

Hinweis: Andrew lehnt jede Haftung Oder Verantwortung fur Schaden ab, die aufgrund unsachgemaBer Installation, Uberprufung, Wartung Oder Demontage auftreten.
Atencao: A Andrew abdica do direito de toda responsabilidade pelos resultados de praticas inadequadas e sem seguranca de instalacao, inspecao, manutengao ou remocao.

VHP4

Awertenza: Andrew declina eventual! responsabilita denvanti dell'esecuzione di procedure di installazione, ispezione, manutenzione e smontaggio improprie o poco sicure.

Other Europe: +44 592 782 612
 U.K.: 0800 250055
 or 1-888-235-5732
U.S.A., Canada, Mexico: 1-800-255-1479
Customer Service 24 hours

www.commscope.com\andrew

any specifications or warranties relating to Andrew Solutions products or services.
marks, respectively, of CommScope. This document is for planning purposes only and is not intended to modify or supplement 
Andrew Solutions is a trademark of CommScope. All trademarks identified by ® or ™ are registered trademarks or trade-
© 2008 CommScope, Inc. All rights reserved.
Visit our Web site at www.commscope.com\andrew or contact your local Andrew Solutions representative for more information.

Notice: Andrew disclaims any liability or responsibility for the results of improper or unsafe installation, inspection, maintenance, or removal practices.
Aviso: Andrews no acepta ninguna obligacion ni responsabilidad como resultado de practicas incorrectas o peligrosas de instalacion, inspecci6n, mantenimiento o retire.
Avis : Andrew decline toute responsabilite pour les consequences de procedures d'installation, d'inspection, d'entretien ou de retrait incorrectes ou dangereuses.

ValuLine
TM

Shield-Radome

5

line

2

Tightly attach the angle adaptor (9) to the top
of the reflector rim with the adaptor bolt (10)

to accommodate a hoist line choker.

9

choker

bolts(5), lock washers (2), and flat washers (4).

10

Hoist line

Position the radome on the shield with the
red flash nearest the top of the antenna.

Assemble radome to the shield with

Hoist

4

assembly

Tighten all shield segment fastenings

Reflector

Fit bolts(1), lock washers(2), and nuts(3) to 
remainder of holes of reflector and tighten. 

Shield 
1

SatelliteDish.com   (954) 941-8883


